R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 7-0 FG IMP.dwg, TX-4068

olastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

GLAZED FIBERGLASS SINGLE DOOR

w/ or w/o SIDELITES
INSWING / OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Plastpro Fiberglass Door described herein complies with the 2006 Infemational Residential Code
(IRC), Sections R301 & R4613 and the 2006 International Building Code (IBC), Sections 1405.12, 1609,
1714.5, 2403 and 2404 (including Texas revisions) subject to the following conditions:

f;

2,

3.

4,

Anchors shall be as listed and spaced as shown in the details. Anchor embedment to base material
shall be beyond wall dressing or stucco.

37.25" MAX. OVERALL

FRAME WIDTH

-

=— 86.00" MAX. OVERALL FRAME HEIGHT - INSWING —=

= 84,00" MAX. OVERALL FRAME HEIGHT - OUTSWING =

This system has been tested and evaluated as a large missile impact protective system for installation

in the Seaward, Inland | and Inland Il areas. This product meets missile level "D" and includes Wind
Zone 4 as defined in ASTM E1996..

Allowable design pressure requirements must be equal to or less than the design pressure rating
shown in the design pressure chart, sheet 1 of this drawing.

Conditions not covered by this drawing are subject to further engineering analysis.

SUPPORTING DOCUMENTS & EVIDENCE

/A

2.

3.

Testing per AAMA/WDMA/CSA 101/1.5.2/A440-05 & ASTM E 1886/1996-05:

Testing Evaluation Laboratories, Inc. test report(s) #: TEL 01390242 & TEL 01390242-IC.
Calculations {Anchoring and Glass load resistance report ASTM E1300-04) prepared by Lyndon F.
Schmidt, P.E.

Ceriificate of Participation issued by the National Accreditation and Management Institute, Inc.,
certifying that Plastpro is manufacturing products within a Quality Assurance program.

37.25" MAX.
FRAME WIDTH

~=——76.00" MAX. OVERALL FRAME WIDTH

=

37.25" MAX.
RAME WIDTH

x

.,
*

bt
a
'3

g

3 .
H

L

. SCHMIDT

)
F 20
":-
: .-";(-:'./ oy
et L0
)
PR

e

.

~=— 86.00" MAX. OVERALL FRAME HEIGHT - INSWING
~= 84.00" MAX. OVERALL FRAME HEIGHT - OUTSWING

—

— 1.5

114.75" MAX. OVERALL FRAME WIDTH

37.25" MAX.

TABLE OF CONTENTS
SHEET# | DESCRIPTION

1 Typical elevations, design pressures & general notes
2 Door panel & glazing details
3 Sidelite panel & glazing details
4 Elevations
5 Horizonfal cross sections ., ., . .
% Vertical cross sechions X 37.25" x 86.00" | 21.00" x 62.50
7 Vertical cross sections
8 Frame anchoring OX /X0 76.00" x 86.00" | 21.00" x 62.50"
9 Frame anchoring

10 Components, mulii-point lock details & bill of materials OXO 114.75" x 86.00" | 21.00" x 62.50"

Gl

+50.0 -55.0 +50.0 -50.0
+50.0 -55.0 +50.0 -50.0
+50.0 -55.0 +50.0 -50.0

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
Phone No.: 813.859.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO
FIBERGLASS DOOR
PART OR ASSEMBLY:
TYPICAL ELEVATIONS, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

L
S
S
=
0

DATE: 04,/13/1

scalE:  N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
TX—4068

sHEeT _ 1 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



Gl

=

DOOR SKIN

NI = =) &

EXTERIOR

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

N

I'II' »
A

®

/i
i

I
L

@ = EII?ENTERIOR q (=2 \C@

m HORIZONTAL CROSS SECTION

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595
Phone No.: 813.658.9197

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

\2/
"  3/4"GLASS EXTERIOR
500R o
—~ — STRUCTURAL SILICONE 1" OVERALL
B i D.L.O. WIDTH GLAZING COMPOUND 1/8" ANNEALED GLASS '
q BY Q'SO (TYP. 2 PLCS. " %
3 ( ) NS / 0.090" PVB INTERLAYER PRGN x| 2
R ‘ / SAFLEX BY SOLUTIA " O§ L
% : - 1/8" ANNEALED GLASS N | &
HE R EVan ~ = — — Bs | g
/ 2/ / B T ARSPACE ENEE
i / o #8-6 PAN HEAD HILO SCREW _|—" S N oo o |3 &
X SEENOTE 1.) | # 1/8" TEMPERED GLASS e B i |9 o
i — s I =
9 GLAIING SPACER D 5 * oy 3
w Iz
Zo0 X SCREPIE INTERIOR ij [7 S iz
o Gl o o
e 3 S GLAZING DETAIL G
2 5 f ODL Life Frame I, =
n _ m
O o i INTERIOR /1 EXTERIOR
& / ot /i
2 ///
/I
| f=— 40"
e F 1.58"
17 el 2
o s s = = o
' e ; @
oh i S o
i JbR8 C T ~Foam core N
NOTSEEE 18 td /o
I/
ODL LITE FRAME LATCH & HINGE STILE BOTIOM RAIL
. DOOR PANEL @W 2B )-Cellviar PVC Cellular PVC
_ /1
: Ll
FIBERGLASS DOOR SKIN: MIN. 0.075" THK. (Fy = 11063 PSI MIN.) i I_I_ " Iz
CORE MATERIAL: POLYURETHANE FOAM (BASF, MIN. 1.9 PCF DENSITY) , 078" - a
1.58" —=— 278" — ]
1 - | 0.67" —— g
NOTE:
1. Spacing for lite frame screws is as follows: =N paTE: 10/08/09

Sides: 4.5" from corners and 11.5" o.c. thereafter ScALE:  N.T.S.

Top & Bottom: 4.5" from corners and @ cenierline.

DWG. BY: JK

L
4

|=—1.58" —| T

CHK. BY: LFS

2. #8 x 2" PFH wood screw through hinge cap
. . TOP RAIL ( :) LATCH STILE DRAWING NO.:
into top and bottom rails for D.P. > 47 PSF. Celular PVC VL Reorcerment @ HINGE STILE m VERTICAL CROSS SECTION TX—4068

LVL Reinforcement W

sHEET _2 oF 10

R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 7-0 FG IMP.dwg, 1-2

© 2010 R.W. BUILDING CONSULTANTS |NG.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 7-0 FG IMP.dwg, 1-3

35.75"
[——— DOOR ——

IiAN EL WIDTE 20.42"

‘ D.L.O. WIDTH

q

g
" 4// | @

o /
5 =
25
' 1N
e =
= 9 X
:
B o
fy O
o /
(ap]
fee] /

4//

/

. SIDELITE PANEL

FIBERGLASS SIDELITE SKIN: MIN. 0.075" THK. (Fy = 11063 PSI MIN.)

CORE MATERIAL: POLYURETHANE FOAM (BASF, MIN. 1.9 PCF DENSITY)

NOTE:

1. Spacing for lite frame screws is as follows:
Sides: 4.5" from corners and 11.5" o.c. thereafter
Top & Bottom: 4.5" from corners and @ centerline.

Gl
DOOR SKIN
EXTERIOR
AN =
RS = T =M
CI INTERIOR D
@ HORIZONTAL CROSS SECTION
3
3/4" GLASS EXTERIOR
BITE
STRUCTURAL SILICONE 1" OVERALL
DOW #995 3F T GLASS THK.

GLAZING COMPOUND
BY Q'SO (TYP. 2 PLCS.)

2

S

#8-6 PAN HEAD HILO SCREW _1— ‘

1/8" ANNEALED GLASS
/ 0.090" PVB INTERLAYER
/ SAFLEX BY SOLUTIA

'=— 1/8" ANNEALED GLASS

Y

=,

=

(SEENOTE 1.) =

:Q AR SPACE
1/8" TEMPERED GLASS

Sec) E
GLAZING SPACER
SCREW PLUG
1) GLAZING DETAIL INTERIOR
ODL Lite Frame

# ’¢758+‘

1.20"

TOP RAIL
Cellular PYC

0.67" —— f=—r

j
i

STILE

3C LVL Reinforcement

L8
5

BOTTOM RAIL
Cellular PVC

2.7

’<7 2.78" 4—1

=—1.58" =

il

STILE

3E LVL Reinforcement

-\."-'\'\‘\T\;\k‘-}tul
ol R g 1]
o e e
S g e
SxT =
= e .,
Lof Ay Hr 5
5 Qim o
S} ioin W
201 iwiy 2
qui U izio &
(‘A‘"’/“'-_ .EO:

G i
Ny i

DOOR SKIN

INTERIOR

“II” FOAM CORE

/ 2"\ VERTICAL CROSS SECTION

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

Documents Prepared By
BUILDING CONSULTANTS, INC.
WF.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

o 3
S | ==
oQ %E
e .. XA
o_w»n s oo
=17, b
23 Dl w2
22 |3 55
PV e
m |2 26
Bl < (a7
= o
S ke
& &
>_
o
(%]
i
o
2]
ol
o
=
<C
S
o
Z
DATE: 04./13/10
scALe:  N.T.S,
DWe. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4068

SHEET _3 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



"ON| BANVLINENDD SNIgTIiNg "My OLo2 @

Ze8LL—d4 # NOWVYLISIOFYN 40 ILVOLAILY3D SNOISIAZH .
SHIINIONI TYNOISSIJ0Hd 4O QuVOE SvX3lL SNOILVATTI Ad A1vad [ON|O| lol O_
w0 L =
LBLE'6GY'ELE "ON Buoyd : NS e | © |,
S6SEE 14 OOMIDA OFZ XOg O°'d \h\w\&, ATENASSY M0 1Mvd " W P m G
*ONI ‘SLNVLINSNOD ONIgTing V . z | 4_
4000 SSY194349i4 Q AR H
CZIPOL# 3'd SvyxaL 0ddLSY1d o M o|y|2 m
‘A'd IPIWYss ‘4 uopuk]  :Ag peupdesd sjuswinooQ 110Naoyd 21381815 m &
% l@f
><
Oj
=
®)
_Il
>
L
—_—
av )
=
mw =P
~
e
L
I~
AH_ V <
T <]
- O
= By
O
=]
=z
O
T
<
>
LLy
—_
Ly
3
=
O
T
<
>
LLl
al
L

$-T ‘BMP'dINT 19 D4 0-Z X1\0T0Z Svx3L\sbumelq dgmy "a\z1ST Jd\009T - T0ST load\siep|od 0al0id\spalold - Y\ogmu\ezsas\y



\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 7-0 FG GL IMP.dwg, 1-5

SEE
NOTE 1

EXT. SHEATHING

¢

Y

0.15"
le— C'SINK
(TYP.)

EXTERIOR

N

VANY.§

_

INTERIOR

/"1 "\ HORIZONTAL CROSS SECTION

u Inswing shown - outswing also approved

9

//

EXTERIOR

40

/4

b ® Oe b

INTERIOR

m HORIZONTAL CROSS SECTION

\y Inswing shown - outswing also approved

[/

EXTERIOR

0.15"
C'SINK
(TYP.)

-

/ EXT. SHEATHING

nnnnn

@)

//

INTERIOR

® %

®@

SEE
NOTE 1

\- DRYWALL

/" 2"\ HORIZONTAL CROSS SECTION

W Inswing shown - outswing also approved

21)

20
©

/4

©

ONG)

g/ésas
NOTE 1

m HORIZONTAL CROSS SECTION

\y Inswing shown - outswing also approved

EXTERIOR

INTERIOR

N ‘\.1'\.\.1
T T A
ANBL e D gty
AT izt »
S Fi=—J 0\
,':f-‘ ¥ . < i) t:‘) h
Fuf iGin ei%
O ¢ . . by %
?‘; s SHTS ::_' W ¢
iy iw i 42
vy iSim &S
e in e
QP i Z £ e
o al "
B | 92X
‘&un,\.xu*

NOTE:

1. Sidelite screws (ifem #22)
3”' 6"' ]6", 27"’ 38“'

49", 60",

located at
70" and

80" from botftom of panel.

0.15"
C'SINK —==] |a— ;
P @ / EXT. SHEATHING
s
e |
7
q
~
N q

/75 \ HORIZONTAL CROSS SECTION

w Inswing shown - outswing also approved

J 2 (&@é@ \DRYWALL

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.0. Box 230 Vairico FL. 33585
Phone No.: 813.650.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

Ry

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO
FIBERGLASS DOOR
PART OR ASSEMBLY:
HORIZONTAL CROSS SECTIONS

PRODUCT:

BY

REVISIONS

fa
S
(o]
=
0

DATE: 04./13/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4068

sHEET _5 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 7-0 FG GL IMP.dwg, 1-6

INTERIOR EXTERIOR

6
[l
J ) wooD
P ) CONCRETE

/ 2"\ VERTICAL CROSS SECTION

w Inswing configuration

\

W 7T ,

o 5 ": 3 ¥

DRYWALL \ o

EXT. SHEATHING

N

o

4

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Valrice FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

0.15"
C'SINK —»|
(TYP)

INTERIOR / EXTERIOR

71"\ VERTICAL CROSS SECTION

& / Inswing shown - outswing
also approved

INTERIOR EXTERIOR

INTERIOR EXTERIOR
/i

o CONCRETE
/3 "\ VERTICAL CROSS SECTION 7“4\ VERTICAL CROSS SECTION
w Shown w/ ADA threshold w Qutswing configuration

PLASTPRO
FIBERGLASS DOOR
PART OR ASSEMBLY:
VERTICAL CROSS SECTIONS

PRODUCT:

BY

REVISIONS

L
<t
[m]
3
=
0

DATE: 04./13 /1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4068

SHEET _6 oF 10

© 2010 R.W. BUILDING CONSULTANTS ING.



"ON| SLNVLINSENOD SNIATINE "M'Y OL02 §

ZS8ii—d # NOWVHISIORY 40 31vOIAILN3O SNOISIAZH :
SYIINIONI WNOISS3J0Nd 4O Quvod Svxal SNOLLOIS SSOMI TYILIMIA Ad A1vd JON[S| | «lo| O_
P 3 a2 o |7
L616°689°C18 ©ON euold g ) el b b
SBEEE “14 OOUIPA 0EZ Xog .O.n_\h\h@ A1GW3SSY d0 Livd 0 r 4 w (=}
"ONI ‘SINVLIINSNOD ONICTING il B B E 7_
4004 SSY1943414 o|l |&|&|g &
£2170L# "I'd SvXal 0dd1SVd g m g|x|% n
"3'd 'WPIWYSS "J uopukl  :g peupdeld suswnoog :LONA0Yd E HEE &
VA
e T
o3 1V4g,eh,) n %
SN EaSNEs S Ty o £
5 7 ,.(nw.‘ % O O
...\1‘“..:....: MNwVD“. “e. W O
e e B
\..”o H N ALETETS N
Frrdanoanat w9, & (=)
¥ ¥ T et
2 e B -~ o =]
.mm &Mx.... i ,.m”\u.w.vt .N :_w @ —_
L S IR Ly e o - E o
ﬁ.mmmm 30 m.rf?. 828 O H m
T <o = = 4
=R =
= 0D oS
T o 5 T
= 0] 0 o] @
O O EE
zZl »80

/i

/"4 \ VERTICAL CROSS SECTION
\U Outswing configuration

INTERIOR
©

EXT. SHEATHING

/ @ (dAL)
—~— YNISD
\ J S0

- S— —_— S—. A— S A— ST—. 5

EXTERIOR
©

@)

= =z
c o
O
| 2 9
= 5
\ u byt d BL =
3|3 ZE
m co &|D
z0 Vlg
=2 (@] =i O
A L =
U ZReY < o
— =28 i mw
g hm. 7 Mm O &2
@) =
! Y® g = P
< & =
: 5 =
oz Z
()

EXTERIOR

7 2"\ VERTICAL CROSS SECTION

\Z/ Inswing configuration

INTERIOR

£-T 'BMP"dINI 19 D4 0-£ X1\0TOZ SyXaL\sBuimela Damy “a\Z1ST Jd\009T - T0ST [oid\siap|od 108[0id\s1801d - YADEGMU\ENZSAs\\



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 7-0 FG IMP.dwg, 1-8

2X FRAMING TO BE DESIGNED BY THE ENGINEER OR
ARCHITECT OF RECORD BASED ON WIND LOADS
AND THE CLADDING BEING USED.

i-. saf

D
®0%a

f

T
T
T 2X FRAMING /

TYP. HEAD &

JAMBS

o WOOD
o CONCRETE

TYP. SILL

—-—-‘ 6” b=

e |

HINGE JAMB

FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PSl)
WOOD (5.G. >=0.42)

)

FRAME ANCHORING

X

) .

Q
~
At ¢
Spwiet oy
e iS5, W
ST BT,
;:,3 Q_""‘-' E T : ',_. L’}’
pr r‘ Ot oL
o u_..:.qﬂ £ 4 S_“' %,): -
GOk iwie =%
W 5 1O GRS
e Ty ol e L
:‘(ir % QO ey
Gos, 0l el
LN b I =2
Qi T ool
Ez" ‘1?‘: Zhp Ve
1 13 LT el

19.87" —=—

. | TYP.HEAD &
JAMBS

TYP.

AT \ 2X MULLION

23"

=g
|

24.25"

I

12.50" O.C. (TYP.)

N o WOOD
(P) concrer

|
-

I
14.8' MAX. O.C. [ TYP.)
/

%

—H-

HINGE DETAIL

-

FOR D.P. > 40 PSF
(WOOD SUBSTRATE ONLY)

) B . o TYP. SILL _| ;
\‘l /4
| o] | L1 L1
LATCH DETAIL
N S
STRIKE JAMB FRAMEXSA:,CC?}? MG
FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PS)
WOOD (5.G. >= 0.42)
* ADDITIONAL ANCHOR REQ'D

Lynden F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valricoe FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

PLASTPRO
FIBERGLASS DOOR
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

REVISIONS

L
<C
[}
S
=z
0

DATE: 04/13/'1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LES

DRAWING NO.:
TX—4068

SHEET _8 ofF 10

© 20710 R.W, BUILDING CONSULTANTS INC.



TON| SANVIINSNDOD 9MNiaing "m'd oLoz Q

ZSEll—4 # NOLLVMLSIOEY 40 ILVOIJILYID SNOISIAY i
SY3ANIONI TWNOISSIIONd 40 Quvoda SvXal ONIMOHONY TWVYA A8 A1vd [ON|O| | ool w O_
S " NZIES e S
LB16°659'CLE I"ON Suoyd : w
GBSEE 14 O9MIBA OCZ xog .O.LS@ ATAWNASSY 0 Ldvd .._zw _.Nl = P m &
“ONI ‘SINVIINSNOD ONIaTING I O B -3 9_
dH000 SSY1943414 ol .|&|&le =
£ZI1¥0LF "3'd SYXAL 04dLSYld b m é|x|2 L
d PIUYDS 4 uopui Ag pedodeud sjuswnsoq 19Naoyd ZIGIEIS m &
X e? ® g
...wu,n”,.o.,ﬁ.....mo%w: ’ ' 7 = &5
SN .,mwzmmw,._“.%.:x , = C =
LA PR 5 B o >
£%; N : 2 =
AR AT T S S N 2 o 5 O
& LAINHOS 4 Noan 145 e 2 | a oo w
Gyt NOANAT 2 = = Tt
P, % - 4 - L Q1
P, O A X 3 <o R
mw Ay, AP ~i - O o
03] [ T A R \ o2
Wyd 40 3huS g i
e @ 5685
=E"0
o
a =
<
*
= L8l —== W0 — SCVE l
[=5]
=
[ o =2 =2 S
Liy
A L] L] Ll L] L] e ﬂ m
=~
(%]
= - ['dAL) D°0 XYW .8¥1
— 7nl|. .9 V 7
| | | | | |
L
s =
© o
()
o 2
. O O
P~ = @
CH_
A m(u
* - | 1 I F
™ e tan) 00 0521 ]
(L]
) i
O w* )
= = = o)
5 a2 M =
= 8 O <|0
- & O & x =
= = O <
© OO °
— J i | [~
[n%4
T < a3
LU
z9 F =2
O 3
20 = o
w = —
w = 7 o
& | B
=08 [ _ _ _
28> > -
zZ <O &
ooz N
TE N )
[a NN 0 oz <5
w QO o= o —
o= = O < o
w 0O <C = R
= O < o’ =&y
250 = il = 2
= & & a IZO
= T S =L
xITE I g
2o h . : . —%§ 5 Sks
JI<< [l fEES ] o 200
[~ .6 LT SCLE \'_nl‘ WSCLE \'_ = ©

6-T ‘BMP'dINI D4 0-£ X1\0TOZ SyX3L\sBumelg DaMmy "a\ZTST 4d\009T - T0ST [oud\siepiod paloid\salold - vy



\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1501 - 1600\PF 1512\D. RWBC Drawings\TEXAS 2010\TX 7-0 FG GL IMP.dwg, 1-10

BILL OF MATERIALS

1.25"

4.58" —f‘

ITEM DESCRIPTION MATERIAL
A | 2XHEADER FRAMING SG >= 0.42 wOOD
B | 2X FRAMING SG >= 0.42 wOOD
C | 1/4" MAX. SHIM SPACE -
J | #10 X 3" PFH WOOD SCREW STEEL
P | 1/4"PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
K | 2X REINFORCEMENT (CLEAR PINE $G >= 0.42) WOOD
L | #10X 2-1/2" PFH WOOD SCREW STEEL
M | #8 X 2-1/2" PFH WOOD SCREW STEEL
5 | #10 X 3" PFH SCREW STEEL
6 | SEALANT SILICONE
7 | WEATHERSTRIP BY Q-LON FOAM
9 | 4"HINGE STEEL
10 | #9 X 3/4" PFH WOOD SCREW STEEL
20 | JAMB FINGER - JOINT - PINE (SG >=0.42) WOOD
21 | POLY FIBER JAMB POLY FIBER
22 | #7 X 2" PFH DRYWALL SCREW STEEL
29 | SIDELITE SPACER PVC
30 | DOOR SWEEP ALUM.
35 | TRIM WOQOD
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS
50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
65 | MULTI-POINT LOCK ASSEMBLY TRILENNIUM BY W & F -
66 | #10 X 1-1/2" PFH SCREW STEEL
69 | MULTI-POINT STRIKE PLATE STEEL

70 | INSWING THRESHOLD BY DLP ALUM. / WOOD
71 | ADA THRESHOLD BY DLP ALUM.
72 | OUTSWING THRESHOLD BY DLP ALUM. / WOOD
73 | SIDELITE THRESHOLD BY DLP ALUM. / WOOD

CONCRETE ANCHOR NOTES:

. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.

. Concrete anchor locations at the corners may be adjusted to maintain the min. edge

distance fo mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be

adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

Concrete anchor table:

ITw 1/4" 1-3/4" 2-1/2"

ELCO 1/4" 1-3/4" ™

HEAD & SIDE
Poly fiber jamb
4.56" L——P--—i
I
g

@ INSWING THRESHOLD

1.30"

1

= Rt %
4.56"

1

—*|101

72 OUTSWING THRESHOLD

= 4.56'

[ 4.62" ii
-

SIDELITE SPACER

65

MULTI-POINT LOCK

Trilennium by W & F

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-—11852

s
=
o=

= | %8

2| Ba

& 2

B3 5.2

33 |9 L8
[N L h2.|

L o S
m | =2

o < O

= o &

EEE

S &

n x

s
m
%3]
=
o
(7]
=
Lol
o
jad
S
o
Z

ATE: 04/13/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

TX—4068

sHEeT 10 oF 10

© 2010 R.W. BUILDING CONSULTANTS ING.



